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Questions

Due to seasonal variation in the flow of Indus and its tributaries:

Due to construction of dams and canals, in rivers:

Fro heavy goods transportation, sea service is:

In the world, sea transportation:

At which year, Orient airways continued it business?

When did Crescent airways closed its business?

Due to air crash in 1949, licence of which air company was cancelled?

In 1949, In Pakistan, there were:

At the time of independence, in Pakistan, there was:

Length of first railway line from Kotri to Karachi was:

In percent Pakistan area, first railway line from Kotri to Karachi was:

George Stephon-son invented steam railway engine in:

At land, for transfering heavy goods,railway is:

Answers Choice

A. River transportation is very limited
B. River transportation is continued
throughout the year

C. River transportation is limited up
to few months

D. River transportation is not
possible

A. Transportation is not possible
B. Transportation is easily possible
C. Transportation may be made
possible

D. Transportation cannot be made
possible

A. A cheapest and easiest means of
transport

B. Very costly means of transport

C. Comparatively costly
transportation service

D. Comparatively cheap
transportation service

. Is an oldest transport service
. Is a modern transport service
. Has special importance

. Has no importance

1955
1957
1960
1965

1952
1950
1955
1959

. Pakistan airways
. Orient airways

. Crescent airways
. Boaja airlines

. Three air companies

. No air company

C. Planning was done for air
company

D. One air company was founded

Wr UOoWr UOWr UOWr U0Wr

. No air company

. Three air companies
. One air company

. Two air companies

169 Km
150 Km
200 Km
250 Km

. Constructed in 1861 A.D
. Constructed in 1875 A.D
Constructed in 1905 A.D
. Constructed in 1935 A.D

1825 AD
1900 A.D
1875 AD
1895 AD

Cheapest means of transport

. Most costly means of transport
Prominent means of transport
Ordinary means of transport

1> UOWr U0OWr U0Wr U0Wr U0Wr

Railway is most important
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Among means of transportation:

For stability of prices in the country:

B. Railway has not any position
C. Railway has nominal position
D. Railway has not prominent
position

B. Means of transport are not
needed

C. Means of transport are absolutely
unnecessary

D. There is no importance of means
of transport



